Combined Higher Secondary Level Examination 2024 Tier Il

Roll Number
Candidate Name
Venue Name
Exam Date
Exam Time
Subject

18/11/2024

9:00 AM -12:00 PM
CHSL 2024 Tier Il

Section : Module | Mathematical Abilities

Q.1 g g fashar & urd 75 oftex 7 &1 g, 45 e &is gy oiir 30 fier Bt R qU 81 56 SrerT-
3T ¢ # 39 UhR &1 T1feq foh Ucieh ¢ H 9HT ATAT 6 g g1 3R Ueh ¢ H &l UehR & Y gl

e mfgg) arT gy @ & fog &0 d & fras ¢ & saraenar gifi?

Ans X 1.15
X220
o 3.10
X 4.25
Question ID : 630680769069
Option 11D : 6306803014292
Option 21D : 6306803014294
Option 31D : 6306803014293
Option 4 ID : 6306803014295
Status : Answered
Chosen Option: 3
Q.2 HuF fAepult Sk T faudia s aenaqyisiwéagwm ____ gargl
Ans | X 1. UdTHR
W 2. 3mad
X 3. g
X 4 gaagds
Question ID : 630680297308
Option 11D : 6306801156699
Option 2 ID : 6306801156700
Option 31D : 6306801156702
Option 41D : 6306801156701
Status : Answered
Chosen Option: 2




Q.3 geh PAIvyeT PQR #, 3id:dhg A & 3R QAR = 116° §1 QPR &Y ATY 1d HIfSIQI
Ans X 1.26°

X 2.54°
o 3.52°
X 427
Question ID : 630680354948
Option 11D : 6306801381865
Option 21D : 6306801381868
Option 31D : 6306801381866
Option 41D : 6306801381867
Status : Answered
Chosen Option: 3
Q.4 2400 m i &tz & awur, gR Y 60 Yehs Fi TN Tead &ar @ o v +ff 37 40 Vs T g1
ar g1 afe gR &Y =1t 6 m/s @, at avu1 &Y =1 w1 hifSal
Ans | X 1.85m/s
X 2.7m/s
X 3.7.5m/s
« 4.8m/s
Question ID : 630680553718
Option 11D : 6306802164770
Option 2 ID : 6306802164767
Option 31D : 6306802164768
Option 4 ID : 6306802164769
Status : Answered
Chosen Option : 4
Q.5 Qe a¥g o Sifha I 32,800 &1 59 15%, 8% 3R 5% il ofi1 shfAies Fei ux = ST 81 awg &1
frera 7eu (2 ) 719 RS9
Ans | X 1.1,997.26
& 2.2,080.12
75 3.1,890.20
X 4.1,923.56
Question ID : 630680526249
Option 11D : 6306802057074
Option 2 ID : 6306802057075
Option 31D : 6306802057072
Option 4 ID : 6306802057073
Status : Answered
Chosen Option: 2




Q.6 ABCD Ueh §oeid g fd AB, CD & 9HIMIaR &, 94T E Qd F I ¥Sisii AD 3R BC & #Aea foig §,
STt FATHIAR ST 718l &1 afg EF, AB & SHiaR &, AB = 28 cm 3R CD = 18 cm &, & EF (cm
#) s fifagl

Ans X 1.5
o 2.23
X 3.10
X 4.46
Question ID : 630680354945
Option 11D : 6306801381855
Option 21D : 6306801381856
Option 31D : 6306801381854
Option 41D : 6306801381853
Status : Answered
Chosen Option: 2
Q7 3(sec’A—1)(cosecA—1)(cosecA+1)+ 4(cosec’A — cot?A) &AM
1d HifSgl
Ans X 1.10
X 2.12
X 3.3
o 47
Question ID : 630680530975
Option 11D : 6306802075715
Option 21D : 6306802075716
Option 3 1D : 6306802075713
Option 4 ID : 6306802075714
Status : Answered
Chosen Option: 4
Q8 5+24X8+8 of 8§—8 =8 X4 of 4=#m 7@ HifSiQI
Ans X 1.-9
X 28
o 3.-8
X 49
Question ID : 630680543677
Option 11D : 6306802125512
Option 2 ID : 6306802125510
Option 31D : 6306802125509
Option 4 ID : 6306802125511
Status : Answered
Chosen Option: 3




Q.9 ufg Yurfehl 1 3fierd 48 g1 UUH IR YuTiehl T 3419, Uiad gutieh @ 50% g1 di=al gutich Ad

HifSgl
o 1.80
X 2.78
X 3.74
X 4.82

Ans

Question ID
Option 11D
Option 2 ID

1 630680103705
: 630680403053
1 630680403052
Option 31D :
Option 41D :
Status :
Chosen Option :

630680403051
630680403054
Answered

1

Q.10 Ueh Uit A & et aret arforsy, A 3iiR hett ETaeRlRl il T=ar shust: 40, 80 3R 60 &1
g g1 siferg] ot uTs =TE ZRT Z20faT SITaT 2, At arforsy WrdeRiR & fAg e st aar @2

Ans 5
X 1. 50
X 2. 60
a
+ 3 80
X470
Question ID : 630680373100
Option 11D : 6306801453671
Option 21D : 6306801453672
Option 31D : 6306801453674
Option 4 ID : 6306801453673
Status : Answered
Chosen Option: 3
Q.11 <fis demmail 1 SrquTa 5 : 7 : 9 @ 3R Ikt AgwH THTa (LCM) 1260 &1 9ad It ok gadt
Ans ¥ 1.16
X 2.24
X 3.20
X 4.32
Question ID : 630680468820
Option 11D : 6306801831059
Option 21D : 6306801831061
Option 31D : 6306801831060
Option 41D : 6306801831062
Status : Answered

Chosen Option :

1




Q.12 & e &t Breard 4 : 5 & Srgurd | & | IR ST fohe Srgurd # gm?
Ans X 1.16:25

X 2.4:5
7 3.125:64
o 4.64:125
Question ID : 63068061512
Option 11D : 630680237406
Option 2 ID : 630680237407
Option 31D : 630680237408
Option 4 ID : 630680237409
Status : Answered
Chosen Option : 4
Q.13 af ges aafoh it oy ST i a=al d Sy & g A TR A7 8, 3R 6 g are I 1Y ITh
A1 =l i ey o i i SR gt ST, Gt 3§ eftn d adEe ey fReae &2
Ans X 1.56a9
o 2.60 a9
X 3.45a¢
X 4.30ad
Question ID : 630680373692
Option 11D : 6306801456041
Option 21D : 6306801456042
Option 31D : 6306801456040
Option 4 ID : 6306801456039
Status : Answered
Chosen Option: 2
Q.14 af foreht 1f A & Treor vt wR 4 af 7 40% R g SN &, A T TSI R R 4 af a8
¥80,000 TR Tehefeg sATST oRIT ERIT?
Ans | X 1.329,728
X 2.339,724
X 3.%17,128
o 4.337,128
Question ID : 630680285387
Option 11D : 6306801109524
Option 2 ID : 6306801109525
Option 31D : 6306801109526
Option 4 ID : 6306801109523
Status : Answered
Chosen Option : 4




Q.15 %éﬂﬂaﬂﬁwg Trii € SR SHDT AT 448 cm® €1 9T B Ty (a1 ¢ (TH o 7z = Zyp
Ans | X 1.23 3
X 2.21 3
X 3.24 T
o 4.22 91
Question ID : 63068056825
Option 11D : 630680219231
Option 2 ID : 630680219233
Option 31D : 630680219230
Option 4 ID : 630680219232
Status : Answered
Chosen Option : 4
Q.16 5% aTftfeh JTLYROT =gTST &3 A Tk ATA 6 auf A 4,160 g <A<kt &1 AfA 71 FfSrwi
Ans
1. 23,200
X2 32,900
X 3. 22,800
x 4. 3,100
Question ID : 630680116185
Option 11D : 630680450071
Option 21D : 630680450072
Option 31D : 630680450073
Option 4 ID : 630680450070
Status : Answered
Chosen Option: 1
Q.17 'ga o= &1 qEa &5thet 1728 cm? &1 39T ATIa F1d gl
Ans |7 1.34564/2 cm?
X 2.43564/2 cm’
X 3.5436+/2 cm?
X 4.64534/2 em?
Question ID : 630680531604
Option 11D : 6306802078211
Option 21D : 6306802078209
Option 31D : 6306802078210
Option 4 ID : 6306802078212
Status : Answered

Chosen Option: 1




Q18 v Gl @ % R, & a9a % v B W 0 e e g
¢ 3T dow F gEy Y W T oF T e 81 e, ofF IR anine
$r eraferss fAsar 4.2 em 31 do @1 Fa1$ 3R o0 H FA$ 7 om B

Ans

Rereter 71 s (em’® #) 71 Bl (v = Z FITIETHET)

X 1.863.25
X 2.358.8
o 3.672.672
X 4.762.255

Question ID

Chosen Option

630680285428
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
03

6306801109681
6306801109680
6306801109682
6306801109679
Answered

Q19 (sinfA + cosPA + 3sim?Acos’A) — (sin*A — cos?A + 1 )cosec’ Amram=

Ans

T FifSigl
X 1.-3
X 23
o 3.1
X 4.0

Question ID : 630680531000
Option 11D : 6306802075813
Option 2 ID : 6306802075816
Option 3 ID : 6306802075814
Option 4 ID : 6306802075815
Status : Answered
Chosen Option: 3

Q.20 WU Qeh 3Harehie i 8,540 H Saeh 22% ATH SIfSTd hedT g1 SHiavehie &l thd Jed AT

Ans

HifSgl
X 1.%6,500
« 237,000
X 337,500
X 4.%6,000

Question ID : 630680531164

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306802076470
6306802076471
6306802076472
6306802076469
Answered

2




Q.21 uget i aut & R Gk seaies Afi & goa 7 5%, 10% 3R 15% & it gg1 i anf g

w2ftsr o1 e fohae g, af wRer & #2fis @1 g 28,000 uT?

Ans X 1.%5000
X 2.36,721
< 3.37,000
o 4.35814
Question ID : 630680769067
Option 11D : 6306803014284
Option 2 ID : 6306803014287
Option 31D : 6306803014285
Option 4 ID : 6306803014286
Status : Answered
Chosen Option : 4
Q.22 2 2 2 EAPFTI'?
(2z — 5y)? + (5z + 2y)?> — 252 &I HM T A"
Ans | X 1.20y2 - 472
X 2.19y2 - 472
X 3.19y% + 472
o 4. 29y2 +472
Question ID : 630680768734
Option 11D : 6306803012914
Option 2 ID : 6306803012915
Option 31D : 6306803012912
Option 41D : 6306803012913
Status : Answered
Chosen Option : 4




Q.23 Gk U ol &1 IR GhehT ST & 3R Qe f&ach ot A9 IR ISTeT 14T 81 9t iR Uik R 5 3m

3R e R ude TR R s fi urferar wra Hifsial

Ans 1
M. .
100
o2 1
288
X3 1
200
x4 !
50
Question ID : 630680296761
Option 11D : 6306801154696
Option 21D : 6306801154697
Option 31D : 6306801154698
Option 4 1D : 6306801154695
Status : Answered
Chosen Option: 2
Q.24 Qe HEAT 37 i &t UFT # 39 TR fRAnfSa fam strar & fok g 9T o1 5 A1 3R g8 9T
11 T FAeTaRR 227 3 SRIER 81 B ST & 9 T T 419 A1 hifoig|
Ans = ¥ 1.63
X 2.60
X 3.61
X 4.62
Question ID : 630680531012
Option 11D : 6306802075857
Option 2 ID : 6306802075860
Option 31D : 6306802075859
Option 4 ID : 6306802075858
Status : Answered

Chosen Option :

1




Q.25 afe fAmfeif@a daror 46, 48, 63, 76, 88, 41, 35, 55, 90, 56, 92 #, 88 &l 93 & 3R 41 I 47 &

Ans

ufaenfia foran s, &t 9 AT ok st mfeden & i siar faha=r ghm?
X 1.3

& 2.0

X 3.2

X 4.1

Question ID : 630680354924
Option 11D : 6306801381772
Option 21D : 6306801381769
Option 31D : 6306801381771
Option 4 ID : 6306801381770
Status : Answered

Chosen Option: 2

Q.26 11 gRRurmHl =pr 3t 59 @ iR ugst 10 uRumsT &1 3ftad 58 &1 11aT uRumy <= &2

Ans X 1.68
X 2.58
« 3.69
X 4.59
Question ID : 630680657247
Option 11D : 6306802572933
Option 2 ID : 6306802572932
Option 31D : 6306802572930
Option 4 ID : 6306802572931
Status : Answered
Chosen Option: 3
Q.27 Uah URER & 7 T=R 91341 &1 WR (kg #) 54, 62, 65, 70, 60, 59, 55 &1

Ans

#Ifedeht ¥R (median weight) 3iTa S
X 1.70kg
" 2.60 kg
X 3.61kg
X 4.61.5kg

Question ID : 630680544798
Option 11D : 6306802129954
Option 2 ID : 6306802129957
Option 31D : 6306802129955
Option 4 ID : 6306802129956
Status : Answered
Chosen Option: 2




Q.28 | A p 3R ¢ W e s e WE= T R A7 12 TIEH o ol 27,000 1 {131 fbar B 1 10 IEH &
fo1w 78,000 1 A= T 3R ¢ 6 HEH & 1T 212,000 ST 39 fbam| A SRR Tew of forgs Re 34 o
TR & &Y F TTH BT 20% WK 41| T a¥ & 24a 7 oAfTd T arH 214,750 T 59 A H C FT fg=n 3 )

o e?
Ans | X 1. 2950
X 2. 4,000
X 3. 4,200
« 4. 3,600
Question ID : 630680447688
Option 11D : 6306801748006
Option 2 ID : 6306801748008
Option 31D : 6306801748005
Option 4 ID : 6306801748007
Status : Answered
Chosen Option: 4
Q.29 ¥=er 3R fafie ardt-amdt @ uer 3 Shea o v § 3R T2 uge! R o Qs ahan 81
3
wyuf 541 Rt F oz ) S 21 AR et orddt vw w48 R A qrr aw wwa 2,
at farfia srdhet 59 & ot foha et & g1 e waRaT 82
Ans X 1.60
o 2.64
X 3.66
X 4.62
Question ID : 630680216708
Option 11D : 630680840795
Option 2 ID : 630680840797
Option 31D : 630680840798
Option 4 ID : 630680840796
Status : Answered
Chosen Option : 2
Q.30 11 gRumHT a1 3T 60 & 3R ugst 10 uRumwt a1 sited 59 @1 1147 ufRom =T 82
Ans X 1.69
o 2.70
X 3.60
X 4.59
Question ID : 630680657248
Option 11D : 6306802572937
Option 2 ID : 6306802572934
Option 31D : 6306802572935
Option 41D : 6306802572936
Status : Answered
Chosen Option: 2




Section : Module Il Reasoning and General Intelligence

Q.1 ST UNH, Tk Y & 1< | 4R || | shHiferd &t srrdanfaar & 7E &1 emuean) sy J & 7 gaft
SRR &l T AT & 3R A J &) 7S goft STt & SR R au &= g 6 & s
Frfarfeal # 9 fraent/frmen arfdhas wu & srgaroT fFar s anfagl

Y :
fiffrae i aR-ar Aareh 33 & aTecE, TEe # Gep a1 AiaTsd B QUIY §¢ UehsT Tl
Srfarfaar:
) T=2 & Atase Wi $4 forar s Ty si @rar-far w) e d g s arfeg)
1) 39 i<t & forg o=at ot Efea foman s =nfgul
Ans | X 1. 3ad () ST STEROT fohar ST Anfeu
X 2.adr (1) iR T (1) a1 srgERvT fohar ST Anfe g
X 3. had (1) e SrgERvT fohaT ST AT |
o 4. a1 (1) SR (1) a1 STER0T foRar ST anfe g

Question ID : 630680401348
Option 11D : 6306801565194
Option 21D : 6306801565195
Option 31D : 6306801565193
Option 41D : 6306801565196
Status : Answered
Chosen Option: 4

Q.2 R, 0,W,D 3R C & 3iiisft & fohast ¥R srefyuf 2reg s-1g W11 Wehdt €, = vdeh 2reg & udah
3eR &1 AfAarf T @ AfhT haer T IR vl fhar sig?

Ans X 1.
o 2.0h
X 3.2 g aifde
X 4. e At et

Question ID : 630680329065
Option 11D : 6306801280099
Option 2 ID : 6306801280098
Option 31D : 6306801280100
Option 4 ID : 6306801280097
Status : Answered
Chosen Option: 2




Q.3 v fAfSa ge omoT 7, 'DARK i '3284' & U | e fohdT SITdT & 3R 'RAKE' @t '6438' & &9

¥ geag frar simar 81 39 W A 'E' & g e aan 82

Ans  #1.6
X 2.3
X 3.4
X 4.8
Question ID : 630680557124
Option 11D : 6306802177452
Option 21D : 6306802177451
Option 31D : 6306802177453
Option 4 ID : 6306802177454
Status : Answered
Chosen Option: 1
Q.4 39 de &1 999 HfSy, Sud e i 3 R d6@fdq g 9 var A=fafaa & Hr
. + <ieif &1
(Fte: Tl ot I e siel | a2 e gof Twemsit ur w@ferard f s a1fag) Serevor &
forg 13 &t fifSig - 13 or wferard, S o6 13 A Stten/gern/on e enfe, it 5 Jehd! g1 13
@t 1 37k 3 # Atz ofik fR 1 3k 3 wR vy wfthang & 6t srgafa 78 81)
(19,9, 173)
(6,17, 104)
Ans = X 1.(8,12,94)
X 2.(7,15,105)
X 3.(14,4,62)
o 4.(11,4,46)
Question ID : 630680555989
Option 11D : 6306802173332
Option 2 ID : 6306802173333
Option 31D : 6306802173334
Option 4 ID : 6306802173335
Status : Answered
Chosen Option : 4




Q.5 uur @t i gAY SIgER MN WR 7@ Wi R &) 1% Si1epfa & wgt gt ufafea @1 wra=1 Hifsig)

M
ZBNNnGf
N
Ans X1 49uUNgz
X2fonU8s
v>19nM8s
X41onKM8s
Question ID : 630680555733
Option 11D : 6306802172371
Option 2 ID : 6306802172368
Option 31D : 6306802172369
Option 4 ID : 6306802172370
Status : Answered
Chosen Option: 3
Q.6 Y,P,R 3R A9 3ilisit & foha= 89 srefypf 2reg am1Q ST Hehdt &, S ueden 21 d v s1aR
o1 3Ifarf ®9 @ AR dhaet Tep IR ST R SITQ?
Ans | X 1. Qe oft g
X
o 3.7%
X 4.3 arfdwm
Question ID : 630680329064
Option 11D : 6306801280093
Option 2 ID : 6306801280095
Option 31D : 6306801280094
Option 4 ID : 6306801280096
Status : Answered
Chosen Option: 3




Q.7 U fAfa ge wmoT A, 'PAID' @i '3274' & ¥ H FHeag fohar Siar @ ofik 'APED' &t '6437' & &4

¥ geag frar simar 81 39 W A 'E' & g e aan 82

Ans X 1.3
o 2.6
X 3.4
X 47
Question ID : 630680557126
Option 11D : 6306802177460
Option 2 ID : 6306802177459
Option 31D : 6306802177462
Option 4 ID : 6306802177461
Status : Answered
Chosen Option: 2
Q.8 IR Tpfa g g 7y &, = & o= foreht Affa v @ 9w+ € ofk 39 U gah 99 sHa
&1 ag Srepfal | -9 &, it 39 Tigg @ Heifda i &2
Ans D
[ ]
X1
®
—
®
X 2
e
—
—
[ ]
X 3.
®
®
o 4.
®
Question ID : 630680570858
Option 11D : 6306802232496
Option 21D : 6306802232494
Option 31D : 6306802232493
Option 4 ID : 6306802232495
Status : Answered
Chosen Option: 4




Q.9 IR Tpfa g g g &, = & = foreht Affa v @ 9w+ € ofR 39 UaR gah T9g sAa

&1 98 SITpfal g -1 @, St 39 Ayg & aifda 7E 82

Ans

A S
X 1.

S A

C B
X 2.

B C

L L
o 3.

®

B #
x 4

# B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680570852
6306802232469
6306802232471
6306802232472
6306802232470
Answered

3




Q.10 TS zafvh IwR Fi 3R & Hech G uRh A S &1 ‘T, ‘U’ & Stk q¢ A1 81 °Y’, ‘U’ & a9 & uied
T R AST 21 ‘T’ 3R ‘P’ g1 &t Rreheaq ugieht 'Z' €1'V', ‘T’ & 9]¢ @ uiad U R as181'0’°
forelt ger BR R AT &, auT1 0’ 3R 'Y’ & ft & Shaet Uk =af<h do1 &1 af ufths & s o= aafwh
T8l da1 g, At ufh 7 43 cafvral Y et de et 82

Ans | 1.1

X 2.13
X 3.14

X 4.12

Question ID : 630680401308
Option 11D : 6306801565033
Option 2 ID : 6306801565035
Option 31D : 6306801565036
Option 4 ID : 6306801565034
Status : Answered
Chosen Option: 1

Q.11 39 J< o1 9 HIfAg, ad T e 39 naR dd6fdq &, 59 ner R=fafaa @ f
T i B

(Fite: T3l ot I ek sichl # A2 fam gof st wR Gikard i st @iy Segror &
g 13 &t +fifS - 13 uR wfrand, A2 fF 13 & stg1/ae™n/7on @=ar onfe, it s wendt §113
@t 1 3fi 3 7 Atz ok flR 1 8k 3 R nforh wftrand et Y srgafa =i 81)

(7,11, 33)
(14, 18, 54)

Ans = X 1.(5,9,36)
o 2. (12,16, 48)
< 3.(18,21, 63)
% 4. (16,20, 40)

Question ID : 630680555991
Option 11D : 6306802173341
Option 2 ID : 6306802173340
Option 31D : 6306802173343
Option 4 ID : 6306802173342
Status : Answered
Chosen Option: 2




Q.12 U 21eE H U 3181’ T Shael ek IR ITART &hd §T A, E, D 31k N & @ @+t arart vt suain

THh TR 3HeR a1et b= arefguf sfish 2reg s-TT W17 Tehet &2

Ans X 1.0
X 22
X 3.3
o 4.1
Question ID : 630680615745
Option 1 ID : 6306802409650
Option 2 ID : 6306802409652
Option 31D : 6306802409653
Option 4 ID : 6306802409651
Status : Answered
Chosen Option: 1
Q.13 U H, Teh Y & o015 | 3R 1l § shwifhra &) frend R wg §1 Ry 71e shumr & sur o= fAofa
IS & g1 7 @ BF-T1/R=-8 P g g/81
HYT:-M<N=<0=S>T=2W=Z
forsenf:
I.LM=T
I.N<Z
Ans | X 1. fswd | iR fAead 11, S 9 &
X 2. Faa faepd | g &
X 3. Fad e || T @
o 4. T ey | SR A 8t e || I &
Question ID : 630680164120
Option 11D : 630680635615
Option 2 ID : 630680635612
Option 31D : 630680635613
Option 4 ID : 630680635614
Status : Answered
Chosen Option : 4




Q.14 Qeh hATST hl ATS T s 3R A 71T HITST hi ehre T a<ieht = g2rfam wam g1 39 fasea
31repfar o1 a1 HIfAY Sit TSt & Gt F9 & (unfolded form) Ta sifdies Merelt STt gt

Ans

- -

wal

T

Lo L I <

& 9|

x AF Bk A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680468000
6306801827903
6306801827905
6306801827902
6306801827904
Answered

1




Q.15 @ &y, | 3R 11 2w 1Y &1 & Fu=T T HIRUT &t Yehd & a1 W=l ShIRUN & U9 a1 IWTAE

Ans

THIRUT gl Hehat &1 Geh hU, SER U T UHT & Hehal &1 ST HYUAT ol ufey ofiR Tl Ry
1 99 hifS|

. ITTER & e & fog AufRa Y 718 9t wraes vdhend Ryl grr T &R S g &)
7 arfiat Y SivoT SnTe TTg & e A i st

Il. TR # et ot garatl 3R sraafder WY arikar & Gura=n & ifes araae & gluge 3
TS A tReAl § TR hl T 21

X1, 18R || S W HROT & gg &
#< 2.1 BT & R || 3Rt Ffad g &
o 3. || BRUT ¢ SR | SHeRT H1fad UeTra 8
X 4.1 3R 1| <Y T HwoT &

Option 31D

Question ID :
Option 11D :
Option 21D :

630680306825
6306801193592
6306801193589

: 6306801193590
Option 41D :
Status :

Chosen Option :

6306801193591
Answered
3




Q.16 I faehed =1 g+ FISIQ St Sirepfa C A Sieh 3¢ UhR Waifda &, f999 UehR Sitepfal B 3imepfar A

@ Hafda g1

<=

pX

1R

: 7?7 : : "
? ? IE !
(A) (8) (©) (D)
Ans
YA 1
X1
| q
L
x 2 1
! B
3
X3 !
1 4
3
4 1
!

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

Chosen Option :

630680309955

6306801205966
6306801205968
6306801205965

1 6306801205967
: Answered

4




Q.17 39 9 faereu o1 ag9 HifSig, sit A=faf@a el i soawn ot arfhe ok arefe ma & gafar

H

1. 9Z¥sT (Hexagon)
2. st (Triangle)
3. dgyst (Pentagon)
4. @t (Square)

5. 3rEYsT (Octagon)

Ans X 1.3,1,524
o 224,315
X 3.1,4,3,5,2
X 4.2,1,3,4,5
Question ID : 630680567079
Option 11D : 6306802217279
Option 21D : 6306802217277
Option 31D : 6306802217278
Option 4 ID : 6306802217280
Status : Answered
Chosen Option: 2
Q.18 |89, freft fAfRya aeh &1 srgawor Fed gy, 78 & Heifda &1 97, ¢t aeh e ST ot g, 86 &
Heifda g1 It ach 1 ITTER0T e gy, 72, Fr=fafaa & & forad ddfaa 82
(Fite: =il ot ITh Ted siehl | a2 e gof Twemsit ur w@ferard f s a1fag) Serevor &
g 13 &t fifSg - 13 ur wferang, S a6 13 & sig=1/aes/7on &=ar onife, i =i wendt &1 13
@t 1 37k 3 # Az ofik fR 1 3k 3 wR Ny wfhang & 6t srgafa =18l 81)
Ans X 1.68
X 2.59
X 3.66
o 4.61
Question ID : 630680555995
Option 11D : 6306802173359
Option 21D : 6306802173358
Option 31D : 6306802173357
Option 4 ID : 6306802173356
Status : Answered
Chosen Option: 4




Q.19 fAm=fafE@d d & wiF-a1 1aR-THg # 3R % & TAM TR T AEY dTfch 2 & IV 3R & 31eR-

T g & oftg fe Ge ofR Haier o1 SrgaroT forar mam g, St de ofk Haier ot SigeRor &
3¢ 3R & SieR-uyg g | fakar siran g?

#:VXB: ACG: %

Ans | X 1.#-GIM, %-KMQ
< 2. #-HDN, % - BDH
X 3. #-UVN, % - KMQ
o 4. #-UWA, % - BDH
Question ID : 630680557129
Option 11D : 6306802177472
Option 21D : 6306802177473
Option 31D : 6306802177474
Option 4 1D : 6306802177471
Status : Answered
Chosen Option: 4
Q.20 fA=faf@a ar G Bl J I i g B fad AT ver @ 99F & ok 59 uaR T
g g1 § | a8 St Bk i=-ar g, St 39 ayg @ defda T8 &2
(eam &: Sanail et 3 e 3iehl | ST 3renT fohy farm gof wwearsit ur witkarg i st
Q| I&TERT o foIg Tweam 13 - Tweam 13 wR |ithard S 13 ol St/ 9e=1/7on ST onfe
foram ST aaRar &1 13 &l 1 3R 3 H 3IeTT-31e1 hea il iR fhR 1 iR 3 wR nifovef wferad &vest
# argafa 7 21)
Ans | o 1.31-46-41
X 2.17-32-26
X 3.24-39-33
X 4.29-44-38
Question ID : 630680556022
Option 11D : 6306802173465
Option 2 ID : 6306802173464
Option 31D : 6306802173466
Option 41D : 6306802173467
Status : Answered
Chosen Option: 1




Q.21 F=fafEd ar e gl d @ i 2ree g [l R @ g 99 & S8R 39 UahR U 99g a1
&1 -9 21e% g 39 Tig ¥ Hafda 78l &2

(2reaT Rt arefguf {4} eree AT SITeT TfRg ok 56 21eg & S1erR} i T/ asrl/w@R) 6 @
% YR R TEIgpd T8l ehdT ST ATfegl)
Ans | X 1.3 -9
X 2. e &t 2t - 2
& 3. TS - Ao
X 4.7 - e

Question ID : 630680557135
Option 11D : 6306802177496
Option 2 ID : 6306802177497
Option 3 ID : 6306802177495
Option 4 ID : 6306802177498
Status : Answered

Chosen Option: 3

Q.22 g g T ok Frer ot eargde ufe ag A ge fh FuEl A & v e v 8, 9
I8 IETad: 719 a2l @ f9= udia gidt gt ok fRofa #fifSig fas Ry 7o Arepwt 7 @ -9/
FHI-Y s T o1 ATfher 9 @ SITEROT AT &/ &

HY:

TS TTad, G, g
TS T1ad, W 8
FIS "he, 7 61 &1
forsepd:

) T A, R &
Il) o =rae, 1 78 81
lll) T IR, Tthe 81 &1

Ans | X 1. 3had Il SR Il
X 2. Faal sk
o 3. Fad Il
X 4. Fa i

Question ID : 630680194948
Option 11D : 630680756281
Option 2 ID : 630680756282
Option 3 1D : 630680756283
Option 4 ID : 630680756284
Status : Answered
Chosen Option: 3




Q.23 Qg AT 3R Freepn i sargds ufeq) ag A g¢ & st | & 18 e v 8, 918
I IETad: 7T al @ f9= udia gt gt ofik Ao #fifSig for g 7o fArewef A @ wi=-av/
-9 s =T a1 dTfcher 9 @ SUROT AT &/ad &

HY:

TS sha, T
g a1, et T8 81
TS U, aw 8l

foreen:

) o thaid, a3 81

1) s shat, ot =81 81
Ill) & &=, T &1 81

Ans | X 1.&aall
X 2. Faa | iRl
& 3. Faa 1l 3R Il
X 4. Faalll

Question ID : 630680194947
Option 11D : 630680756279
Option 21D : 630680756277
Option 31D : 630680756278
Option 4 ID : 630680756280
Status : Answered
Chosen Option: 3

Q.24 @ &y, | 3R 11 2w ¢ &1 A U= T HRUT & Yehd & AT Wl hIRUN & U9 a1 IUTAE
HRUT gt Hehet & | Yeh U, TER hYU T THT gl Tehall &1
ZHT AT @ ufey ok Tl frerea &1 au= fifsigl

1) aRiareT iR W@ifeE Tere # ufd-sifarfiehRes (antioxidants), fe1fa|- A, faef@=- C, wide,
R, wIgeR SR wIEEIgfeUe (phytonutrients) YRYR AT # UTQ 114 &, Sit Wrea & fag
=SB gla &l

) Trer Sfiae & forg g sra=t fem &l Qe |eTe @Mt ST Ueh agd & 31T SuTd &l
Ans | X 1.13R |l QY o BROM & g9E &
X 2.1 3R |l Y T HROT §
X 3. 11 BRUT g SR | SHhT GG U9 &
o 4. | RO 3R || 38 1A g1a &

Question ID : 630680387981
Option 11D : 6306801512541
Option 2 ID : 6306801512540
Option 31D : 6306801512539
Option 41D : 6306801512538
Status : Answered
Chosen Option : 4




Q.25 faredl | @ I SATHf &1 T RIS St w1 &g (?) & U R S & 71 et dt gRT R

Ans

Tehell &1

T

b1

T

T

T,

T

(4

Question ID :
Option 11D :
Option 21D :

Option 31D

630680370582
6306801443684
6306801443683

: 6306801443685
Option 41D :
Status :

Chosen Option :

6306801443682
Answered
1




Q.26 afe T 23584617 ® Uedeh fawd 3ieh & 2 Siter SIQ SR Uedeh €N 3ich & @ 1 "er™T S, at
39 UhR I} 1S G<=aT § fohae 3k Ueh @ 3ifder R 3mgi?

Ans o 1. =
X o
X 3.Th
X 4. g oft 7
Question ID
Option 11D
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

1 630680375591
6306801463522

6306801463521
6306801463520
6306801463519
Answered

1

Q.27 MNQP 3isft guiigshd & YR TR Teh AT aics & STWV & Haifda g1 3+ avg ABED,
GHKJ @& wisifera g1 gt ah &1 arer et ¢ WML Frafaf@a 7 @ frad weifaa &2

Ans = X 1.PORS

< 2.0PRS
«” 3. OPSR
< 4.ROPS
Question ID : 63068083300
Option 11D : 630680323050
Option 21D : 630680323049
Option 31D : 630680323048
Option 4 ID : 630680323051
Status : Answered
Chosen Option: 3
Q.28 fA=faf@d ar d=ar Bl d A a1 T B fadh i vrr @ 9= & ok 59 UaR T
g g1 § | 98 S ek i=-91 g, St 39 g 9 Sefda 78 &2
(eam &: T3l et Ik ek ekl | IreT-3renT fohy farmT gof wwersit ur wfgkarg i st
TIRY | ITER0T & g T 13 - T=aT 13 IR GiEhaTd SI9 13 i Site=1/9e=1/Ton T 31fe
foran ST gaRar &1 13 &l 1 3R 3 & 31eTT-31e17 hea il 3R fhR 1 ik 3 wR niforeha Gferad &veat
& srgafa g 1)
Ans | X 1.112-103-94
X 2.94-85-76
" 3.76-67-54
X 4.87-78-69
Question ID : 630680556021
Option 11D : 6306802173462
Option 2 ID : 6306802173461
Option 31D : 6306802173463
Option 41D : 6306802173460
Status : Answered
Chosen Option: 3




Q.29 3R & IH HAeT o Ta- hiforg e & ¢ si@e & R+h wI=i # it ®ud @A R

siaet gt gt st
REMRRE_R_EEMRRE_M_
Ans | X 1.REME
X 2. MRME
«" 3. MREM
X 4.EMER
Question ID : 630680520497
Option 11D : 6306802034415
Option 2 ID : 6306802034416
Option 31D : 6306802034413
Option 4 ID : 6306802034414
Status : Answered
Chosen Option: 3
Q.30 afe A=faf@a gfieror & + 3 ‘-’ @t armug A T Rar s1mg 3k ‘%’ ok = &t emuw # aee
o w1y, af 59w uer-RAg (?) & w=IE = wn sgTm?
21-7+144x3+18=?
Ans X 1.323
5 2.330
« 3.339
X 4.342
Question ID : 630680375897
Option 11D : 6306801464660
Option 21D : 6306801464659
Option 31D : 6306801464661
Option 41D : 6306801464662
Status : Answered
Chosen Option: 3
Section : Module | English Language and Comprehension
Q.1 Select the most appropriate option to fill in the blank.
The rising rate of inflation is making life very hard for poor.
Ans X 1. its
o 2. the
X 3.some
X 4. all
Question ID : 630680146285
Option 11D : 630680566033
Option 2 ID : 630680566030
Option 31D : 630680566031
Option 4 ID : 630680566032
Status : Answered
Chosen Option: 2




Q.2

Rearrange the jumbled words and choose the alternative that correctly matches the given
sentence.

Theyouth_____ now-a-days.
life / of / today / a / leading / are / miserable

Ans | X 1.today are leading of a miserable life
" 2. of today are leading a miserable life
/5 3. are today leading of a miserable life
X 4. today are leading a miserable life of
Question ID : 630680123901
Option 11D : 630680480467
Option 2 ID : 630680480466
Option 3 ID : 630680480469
Option 4 ID : 630680480468
Status : Answered
Chosen Option: 2
Q.3 Select the most appropriate article(s) to fill in the blanks.
| was in state of unconsciousness for about half hour.
Ans = X 1.a;No article
X 2.the;a
" 3.a;an
5 4.No article ; an
Question ID : 630680144484
Option 11D : 630680559005
Option 2 ID : 630680559003
Option 3 ID : 630680559004
Option 4 ID : 630680559002
Status : Answered
Chosen Option: 3
Q.4 Select the option that expresses the given sentence in passive voice.
The new sunshades have protected our windows during the rainy season.
Ans | X 1.0ur windows are being protected by the new windows during the rainy season.
X 2. Our sunshades have been protected by the new windows during the rainy season.
«# 3. Our windows have been protected by the new sunshades during the rainy season.
75 4. Our windows are being protected by the new sunshades during the rainy season.
Question ID : 630680133595
Option 11D : 630680517341
Option 2 ID : 630680517340
Option 31D : 630680517338
Option 4 ID : 630680517339
Status : Answered
Chosen Option: 3




Q.5 Select the most appropriate synonym of the given word.

Abolish
Ans | X 1. Worship

" 2. Cancel
X 3. Assist
/5 4. Subside
Question ID : 630680123837
Option 11D : 630680480219
Option 2 ID : 630680480218
Option 3 1D : 630680480220
Option 4 1D : 630680480221
Status : Answered
Chosen Option: 2
Q.6 Replace the underlined word in the given sentence with its correctly spelt version.
| have been morning the death of my pet dog.
Ans | X 1.moruning
« 2. mourning
25 3. murning
X 4. merning
Question ID : 630680123960
Option 11D : 630680480698
Option 2 1D : 630680480701
Option 3 ID : 630680480699
Option 4 ID : 630680480700
Status : Answered
Chosen Option: 2
Q.7 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The Supreme Court set away / the verdict of the High Court / and agreed to hear the plea /
of the complainant.
Ans | " 1. The Supreme Court set away
X 2. of the complainant
< 3. the verdict of the High Court
< 4. and agreed to hear the plea
Question ID : 630680146317
Option 11D : 630680566158
Option 2 ID : 630680566161
Option 31D : 630680566159
Option 4 ID : 630680566160
Status : Answered
Chosen Option: 3




Q.8 Rearrange the jumbled words and choose the alternative that correctly matches the given
sentence.

I missed the _____for the next.
usually / hour / which / for / board / had / wait / an / bus /1 / and / to

Ans | X 1.hour and had to wait for an bus which | usually board
4 2. bus which | usually board and had to wait for an hour
25 3. bus | usually board which had to wait for an hour and

2 4. bus which | board and had to wait for an usually hour

Question ID : 630680123907
Option 11D : 630680480492
Option 2 1D : 630680480491
Option 31D : 630680480493
Option 4 ID : 630680480490
Status : Answered
Chosen Option: 2
Q.9 Select the most appropriate option that can substitute the underlined segment in the given
sentence.
Harish is clever than wise.
Ans | X 1. more cleverer than
5 2. cleverest than
«# 3. more clever than
5 4. clever as
Question ID : 630680129269
Option 11D : 630680500704
Option 2 ID : 630680500705
Option 31D : 630680500703
Option 4 ID : 630680500702
Status : Answered
Chosen Option: 3
Q.10 Rearrange the jumbled words and choose the alternative that correctly matches the given
sentence.
The people of to survive.
are / this / island / commodities / deprived / essential / needed / remote / of
Ans | X 1.thisisland are deprived of essential commodities needed remote
< 2. remote island are deprived of essential commodities needed this
«# 3. this remote island are deprived of essential commodities needed
25 4. this remote island are needed essential commodities deprived of
Question ID : 630680123906
Option 11D : 630680480489
Option 2 ID : 630680480487
Option 31D : 630680480488
Option 4 ID : 630680480486
Status : Answered
Chosen Option: 3




Q.11 Select the most appropriate ANTONYM of the underlined word to fill in the blank.

Allies have always come to his rescue in spite of his attempts to defame him.

Ans | X 1. fellows’
X 2. scholars’
< 3. buddies’

" 4. enemies’

Question ID : 630680156748
Option 11D : 630680606635
Option 2 ID : 630680606632
Option 31D : 630680606634
Option 4 ID : 630680606633
Status : Answered
Chosen Option : 4
Q.12 Sentences of a paragraph are given below. While the first and the last sentences (S1 and
S6) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.
S1. CV Raman'’s story begins in a village near Tiruchirapalli (known in his days as
Trichinopoly) in southern India.
P. When he was four years old, Raman’s family moved to Vishakapatnam.
Q. He was born on 8 November 1888, the second child of R Chandrashekara lyer and
Parvati Ammal.
R. Chandrasekara lyer was an athletic man and he took active interest in sports.
S. His father took up a job there, as a lecturer in Mrs. AV Narsimha Rao College, where he
taught physics, mathematics and physical geography.
S6. His young son Raman was not physically very strong, but was very intelligent and he
preferred to read books and work at his studies.
Ans | X 1.PQSR
> 2.QPRS
< 3.SRPQ
o 4. QPSR
Question ID : 630680123831
Option 11D : 630680480194
Option 2 ID : 630680480197
Option 31D : 630680480196
Option 4 ID : 630680480195
Status : Answered
Chosen Option : 4




Q.13 Select the most appropriate meaning of the given idiom.
Call it a day

Ans | «# 1. Stop working on something
2 2. Name a particular day
< 3. Begin with an assignment

25 4. Involve many people for a simple job

Question ID : 630680129526
Option 11D : 630680501723
Option 2 ID : 630680501722
Option 31D : 630680501724
Option 4 ID : 630680501725
Status : Answered
Chosen Option: 1
Q.14 Select the most appropriate adverb to fill in the blank.
, I'm going to walk my dog.
Ans X 1.Rarely
w” 2. Now
< 3. Already
X 4. Annually
Question ID : 630680119671
Option 11D : 630680463766
Option 2 ID : 630680463767
Option 31D : 630680463769
Option 4 ID : 630680463768
Status : Answered
Chosen Option: 2
Q.15 Select the option that expresses the given sentence in indirect speech.
The patient says, “l am fine.”
Ans | X 1.The patient says that he was fine.
" 2. The patient says that he is fine.
/5 3. The patient says that he would be fine.
X 4. The patient says that he will be fine.
Question ID : 630680156582
Option 11D : 630680605986
Option 2 1D : 630680605985
Option 31D : 630680605987
Option 4 ID : 630680605984
Status : Answered
Chosen Option: 2




Q.16 Select the most appropriate phrasal verb that can substitute the underlined segment in the
given sentence.

The firefighters tried their best to extinguish the fire.
Ans = X 1.putin

X 2. puton
¥ 3. put out
X 4. put off
Question ID : 630680126880
Option 11D : 630680492037
Option 2 ID : 630680492034
Option 31D : 630680492036
Option 4 ID : 630680492035
Status : Answered
Chosen Option: 3
Q.17 Complete the sentence by choosing an appropriate word from the given options.
He has not returned the money.
Ans = X 1.only
X 2.too
25 3. still
o 4. yet
Question ID : 630680120435
Option 11D : 630680466771
Option 21D : 630680466773
Option 31D : 630680466770
Option 4 ID : 630680466772
Status : Answered
Chosen Option: 3
Q.18 Select the option that expresses the given sentence in passive voice.
Doctors saved many lives during the pandemic.
Ans | X 1. Many lives were being saved by doctors during the pandemic.
X 2. Many lives have been saved by doctors during the pandemic.
/X 3. Many lives are saved by doctors during the pandemic.
«# 4. Many lives were saved by doctors during the pandemic.
Question ID : 630680156606
Option 11D : 630680606081
Option 21D : 630680606080
Option 31D : 630680606082
Option 4 1D : 630680606083
Status : Answered
Chosen Option : 4




Q.19 Select the most appropriate option that can substitute the underlined segment in the given
sentence.

Research in Social Sciences is plagued nowadays on gloomy definitions and
measurements.

Ans | X 1.nowadays onto gloomy definitions
" 2. nowadays by gloomy definitions
25 3. nowadays amid gloomy definitions

X 4. nowadays during gloomy definitions

Question ID : 630680147436
Option 11D : 630680570529
Option 2 ID : 630680570527
Option 3 ID : 630680570526
Option 4 ID : 630680570528
Status : Answered
Chosen Option: 2

Q.20 Select the most appropriate option to fill in the blanks.
It's funny how every time he fails to apply the and the glass.

Ans | X 1.brakes; brakes
X 2. breaks; brakes

" 3. brakes; breaks
/5 4. breaks; breaks

Question ID : 630680184934
Option 11D : 630680716687
Option 2 ID : 630680716685
Option 31D : 630680716686
Option 4 ID : 630680716688
Status : Answered
Chosen Option: 3

Q.21 Select the INCORRECTLY spelt word.
Ans | X 1.Instinctual

5 2. Initiative
" 3. Implusive
25 4. Intuition

Question ID : 630680130692
Option 11D : 630680506062
Option 2 ID : 630680506065
Option 3 ID : 630680506064
Option 4 ID : 630680506063
Status : Answered
Chosen Option: 3




Q.22 Select the most appropriate option to fill in the blank.

His family lives Mahu in Madhya Pradesh.

Ans = X 1.by
X 2. of
o 3. at
X 4.on
Question ID : 630680120853
Option 11D : 630680468387
Option 2 ID : 630680468389
Option 31D : 630680468386
Option 4 ID : 630680468388
Status : Answered
Chosen Option: 3
Q.23 In the following sentence, a few of the spellings are incorrect. Find out the sentence with
correctly spelt words from the given options.
He is wimsical by natur. No one can seek an explanation from him for his absurd atitude
towards others.
Ans | X 1.Heis whimsical by nature. No one can seek an explanation from him for his absurd
atitude towards others.
/5 2. He is whimsical by natur. No one can seek an explanation from him for his absurd
attitude towards others.
« 3. He is whimsical by nature. No one can seek an explanation from him for his absurd
attitude towards others.
25 4. He is wimsical by nature. No one can seek an explanation from him for his absurd
attitude towards others.
Question ID : 630680121912
Option 11D : 630680472593
Option 2 ID : 630680472590
Option 3 1D : 630680472591
Option 4 ID : 630680472592
Status : Answered
Chosen Option: 3
Q.24 Select the option that expresses the given sentence in direct speech.
He will say that he is okay.
Ans | X 1.He would say, “l am okay.”
25 2. He will say, “l was okay.”
X 3. He will say, “l am always okay."
" 4. He will say, “l am okay.”
Question ID : 630680156590
Option 11D : 630680606016
Option 2 ID : 630680606018
Option 31D : 630680606017
Option 4 ID : 630680606019
Status : Answered
Chosen Option : 4




Q.25 Select the option that expresses the given sentence in passive voice.
| remember my mother taking me to the stadium.
Ans | X 1. My mother remembered me taken to the stadium.
X 2.1 was remembered being taken to the stadium by my mother.
25 3.1 was taken to the stadium by mother that | remembered.

«# 4.1 remember being taken to the stadium by my mother.

Question ID : 630680126832
Option 11D : 630680491846
Option 2 ID : 630680491849
Option 31D : 630680491847
Option 4 1D : 630680491848
Status : Answered
Chosen Option : 4
Q.26 Select the most appropriate synonym of the given word.
Dingy
Ans | 4 1. Dreary
X 2. Sterile
25 3. Bright
X 4. Pure
Question ID : 630680274317
Option 11D : 6306801065779
Option 21D : 6306801065781
Option 31D : 6306801065780
Option 4 ID : 6306801065782
Status : Not Answered
Chosen Option : --
Q.27 Select the most appropriate synonym of the underlined word in the given sentence.
Huxley was an exponent of Darwin’s theory of evolution.
Ans | X 1.Terminate
X 2. Cease
«” 3. Proponent
/5 4. Conclude
Question ID : 630680131743
Option 11D : 630680510184
Option 2 ID : 630680510183
Option 31D : 630680510182
Option 4 ID : 630680510185
Status : Answered
Chosen Option: 3




Q.28 Select the option that expresses the given sentence in indirect speech.
He always says to me, “| am perturbed.”

Ans | X 1.He always tells me that he is mostly perturbed.
X 2. He always tells me that he is perturbed by change.
25 3. He always tells me that he is going to be perturbed.

" 4. He always tells me that he is perturbed.

Question ID : 630680156583
Option 11D : 630680605989
Option 2 ID : 630680605991
Option 3 1D : 630680605988
Option 4 ID : 630680605990
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
During active sleep, the body is still, (1) the brain is active. The eyes dart back and
forth behind closed lids, blood pressure (2) and the breathing pattern speeds up. An
EEG of someone during rapid eye movement sleep looks almost the same as the EEG of a
person in the waking state, although one is still asleep and the body is still immobile. Rapid
eye movement sleep plays a vital role in harmonising the experiences we have in the world
outside. An EEG of someone during rapid eye movement sleep looks almost the same as the
EEG of a person in the (3) state, although one is still asleep and the body is still
(4) . Rapid eye movement during sleep plays a vital role in harmonising the
experiences we have in the world outside.
SubQuestion No : 29
Q.29 Select the most appropriate option to fill in blank number 1.
Ans | X 1.so
< 2. therefore
X 3. neither
& 4. but
Question ID : 630680396468
Option 11D : 6306801545973
Option 2 ID : 6306801545971
Option 3 ID : 6306801545972
Option 4 ID : 6306801545974
Status : Answered
Chosen Option: 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During active sleep, the body is still, (1) the brain is active. The eyes dart back and
forth behind closed lids, blood pressure (2) and the breathing pattern speeds up. An
EEG of someone during rapid eye movement sleep looks almost the same as the EEG of a
person in the waking state, although one is still asleep and the body is still immobile. Rapid
eye movement sleep plays a vital role in harmonising the experiences we have in the world
outside. An EEG of someone during rapid eye movement sleep looks almost the same as the
EEG of a person in the (3) state, although one is still asleep and the body is still

4) . Rapid eye movement during sleep plays a vital role in harmonising the
experiences we have in the world outside.

SubQuestion No : 30
Q.30 Select the most appropriate option to fill in blank number 2.
Ans | X 1.beeps

¥ 2. increases

5 3. stables
5 4. relaxes
Question ID : 630680396469
Option 11D : 6306801545977
Option 2 ID : 6306801545978
Option 31D : 6306801545975
Option 4 ID : 6306801545976
Status : Answered
Chosen Option: 2
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
During active sleep, the body is still, (1) the brain is active. The eyes dart back and
forth behind closed lids, blood pressure (2) and the breathing pattern speeds up. An
EEG of someone during rapid eye movement sleep looks almost the same as the EEG of a
person in the waking state, although one is still asleep and the body is still immobile. Rapid
eye movement sleep plays a vital role in harmonising the experiences we have in the world
outside. An EEG of someone during rapid eye movement sleep looks almost the same as the
EEG of a person in the (3) state, although one is still asleep and the body is still
4) . Rapid eye movement during sleep plays a vital role in harmonising the
experiences we have in the world outside.
SubQuestion No : 31
Q.31 Select the most appropriate option to fill in blank number 3.
Ans | X 1.standing
& 2. waking
X 3. sleeping
5 4. eating
Question ID : 630680396470
Option 11D : 6306801545981
Option 2 ID : 6306801545980
Option 31D : 6306801545979
Option 4 ID : 6306801545982
Status : Answered
Chosen Option: 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

During active sleep, the body is still, (1) the brain is active. The eyes dart back and
forth behind closed lids, blood pressure (2) and the breathing pattern speeds up. An
EEG of someone during rapid eye movement sleep looks almost the same as the EEG of a
person in the waking state, although one is still asleep and the body is still immobile. Rapid
eye movement sleep plays a vital role in harmonising the experiences we have in the world
outside. An EEG of someone during rapid eye movement sleep looks almost the same as the
EEG of a person in the (3) state, although one is still asleep and the body is still

4) . Rapid eye movement during sleep plays a vital role in harmonising the
experiences we have in the world outside.

SubQuestion No : 32

Q.32 Select the most appropriate option to fill in blank number 4.

Ans

< 1. performing
< 2. active
2% 3. conscious

" 4. immobile

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680396471
6306801545986
6306801545983
6306801545985
6306801545984
Answered

2




Comprehension:

Read the given passage and answer the question that follows.

As a result of increasing population and expansion of residential areas, forest lands are
being encroached. This is not all; even the wildlife is under extreme threat. As our fauna is
facing a dearth of adequate shelter in forests, they are heading towards towns and hence get
killed by hunters. Consequently, many animal species have either become extinct or are on
the verge of extinction. The Black Buck is almost endangered and found only in two
countries, Nepal and India. In India, this antelope is found in many national parks like Guindy
National Park, Point Calimere and Vellandu sanctuaries of Tamil Nadu, Rollapadu of Andra
Pradesh, few parts of Rajasthan and Haryana. As far as their habitat is concerned, they live in
open grasslands, dry areas or thinly populated areas and near water resources. They live in
the desert areas of Rajasthan and coastal areas because they cannot sustain cold climate.
They are the fastest running animals on this planet. Further, this animal is active during the
day, but slows down in its activities after mid-day. They are social beings. Hence, they move
with their herds, which can vary from 3 to 23 mates. They cohabit twice in a year and give
birth twice in a year.

Prior to independence, this antelope was extensively hunted which affected their population
so much that this species has reached the stage of extinction in many parts of the country.
Poachers kill them mainly for material gain. Its skin has an enormous value in the market. In
order to protect this species, the IUCN has declared this species nearly threatened. Hence,
under Schedule | of the Wildlife Protection Act of 1972, numerous stern measures have been
taken. To specify a few, Kaimur Wildlife Sanctuary (Bihar), Gir Forest National Park, Velavadar
Wildlife Sanctuary (Gujarat), National Chambal Sanctuary, etc. Despite these acts, hunting is
adversely affecting our wildlife. There are some solutions to this problem but the best one is
to boycott the products made from endangered species at an international level. This seems
to be effective but will it prevent animal hunting? That's a question.

SubQuestion No : 33

Q.33 The Black Buck is killed because of hunters’

Ans

< 1. personal gratification

& 2. fun
5 3. need

« 4. material gain

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680399393
6306801557496
6306801557498
6306801557495
6306801557497
Answered

4




Comprehension:

Read the given passage and answer the question that follows.

As a result of increasing population and expansion of residential areas, forest lands are
being encroached. This is not all; even the wildlife is under extreme threat. As our fauna is
facing a dearth of adequate shelter in forests, they are heading towards towns and hence get
killed by hunters. Consequently, many animal species have either become extinct or are on
the verge of extinction. The Black Buck is almost endangered and found only in two
countries, Nepal and India. In India, this antelope is found in many national parks like Guindy
National Park, Point Calimere and Vellandu sanctuaries of Tamil Nadu, Rollapadu of Andra
Pradesh, few parts of Rajasthan and Haryana. As far as their habitat is concerned, they live in
open grasslands, dry areas or thinly populated areas and near water resources. They live in
the desert areas of Rajasthan and coastal areas because they cannot sustain cold climate.
They are the fastest running animals on this planet. Further, this animal is active during the
day, but slows down in its activities after mid-day. They are social beings. Hence, they move
with their herds, which can vary from 3 to 23 mates. They cohabit twice in a year and give
birth twice in a year.

Prior to independence, this antelope was extensively hunted which affected their population
so much that this species has reached the stage of extinction in many parts of the country.
Poachers kill them mainly for material gain. Its skin has an enormous value in the market. In
order to protect this species, the IUCN has declared this species nearly threatened. Hence,
under Schedule | of the Wildlife Protection Act of 1972, numerous stern measures have been
taken. To specify a few, Kaimur Wildlife Sanctuary (Bihar), Gir Forest National Park, Velavadar
Wildlife Sanctuary (Gujarat), National Chambal Sanctuary, etc. Despite these acts, hunting is
adversely affecting our wildlife. There are some solutions to this problem but the best one is
to boycott the products made from endangered species at an international level. This seems
to be effective but will it prevent animal hunting? That's a question.

SubQuestion No : 34

Q.34 What is the author’s tone in this passage?

Ans

" 1. Concerned
X 2. Agitated

#5 3. Revengeful
25 4. Impressed

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680399395
6306801557503
6306801557504
6306801557506
6306801557505
Answered

1




Comprehension:

Read the given passage and answer the question that follows.

As a result of increasing population and expansion of residential areas, forest lands are
being encroached. This is not all; even the wildlife is under extreme threat. As our fauna is
facing a dearth of adequate shelter in forests, they are heading towards towns and hence get
killed by hunters. Consequently, many animal species have either become extinct or are on
the verge of extinction. The Black Buck is almost endangered and found only in two
countries, Nepal and India. In India, this antelope is found in many national parks like Guindy
National Park, Point Calimere and Vellandu sanctuaries of Tamil Nadu, Rollapadu of Andra
Pradesh, few parts of Rajasthan and Haryana. As far as their habitat is concerned, they live in
open grasslands, dry areas or thinly populated areas and near water resources. They live in
the desert areas of Rajasthan and coastal areas because they cannot sustain cold climate.
They are the fastest running animals on this planet. Further, this animal is active during the
day, but slows down in its activities after mid-day. They are social beings. Hence, they move
with their herds, which can vary from 3 to 23 mates. They cohabit twice in a year and give
birth twice in a year.

Prior to independence, this antelope was extensively hunted which affected their population
so much that this species has reached the stage of extinction in many parts of the country.
Poachers kill them mainly for material gain. Its skin has an enormous value in the market. In
order to protect this species, the IUCN has declared this species nearly threatened. Hence,
under Schedule | of the Wildlife Protection Act of 1972, numerous stern measures have been
taken. To specify a few, Kaimur Wildlife Sanctuary (Bihar), Gir Forest National Park, Velavadar
Wildlife Sanctuary (Gujarat), National Chambal Sanctuary, etc. Despite these acts, hunting is
adversely affecting our wildlife. There are some solutions to this problem but the best one is
to boycott the products made from endangered species at an international level. This seems
to be effective but will it prevent animal hunting? That's a question.

SubQuestion No : 35

Q.35 What is the theme of this passage?

Ans

«” 1. Endangered species
#5 2. Forests and their uses
#5 3. Over-population

%< 4. Land encroachment

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680399392
6306801557492
6306801557493
6306801557491
6306801557494
Answered

1




Comprehension:

Read the given passage and answer the question that follows.

As a result of increasing population and expansion of residential areas, forest lands are
being encroached. This is not all; even the wildlife is under extreme threat. As our fauna is
facing a dearth of adequate shelter in forests, they are heading towards towns and hence get
killed by hunters. Consequently, many animal species have either become extinct or are on
the verge of extinction. The Black Buck is almost endangered and found only in two
countries, Nepal and India. In India, this antelope is found in many national parks like Guindy
National Park, Point Calimere and Vellandu sanctuaries of Tamil Nadu, Rollapadu of Andra
Pradesh, few parts of Rajasthan and Haryana. As far as their habitat is concerned, they live in
open grasslands, dry areas or thinly populated areas and near water resources. They live in
the desert areas of Rajasthan and coastal areas because they cannot sustain cold climate.
They are the fastest running animals on this planet. Further, this animal is active during the
day, but slows down in its activities after mid-day. They are social beings. Hence, they move
with their herds, which can vary from 3 to 23 mates. They cohabit twice in a year and give
birth twice in a year.

Prior to independence, this antelope was extensively hunted which affected their population
so much that this species has reached the stage of extinction in many parts of the country.
Poachers kill them mainly for material gain. Its skin has an enormous value in the market. In
order to protect this species, the IUCN has declared this species nearly threatened. Hence,
under Schedule | of the Wildlife Protection Act of 1972, numerous stern measures have been
taken. To specify a few, Kaimur Wildlife Sanctuary (Bihar), Gir Forest National Park, Velavadar
Wildlife Sanctuary (Gujarat), National Chambal Sanctuary, etc. Despite these acts, hunting is
adversely affecting our wildlife. There are some solutions to this problem but the best one is
to boycott the products made from endangered species at an international level. This seems
to be effective but will it prevent animal hunting? That's a question.

SubQuestion No : 36

Q.36 Choose the word which closely means ‘adversely’.

Ans

#< 1. Distressing
#5 2. Scarcely

75 3. Digressing
«” 4. Detrimentally

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680399394
6306801557502
6306801557500
6306801557501
6306801557499
Answered

4




Q.37

Ans

Comprehension:

Read the given passage and answer the question that follows.

Lena was an avid explorer. She had a deep fascination for the mysteries hidden within the
dense forests. One day, while wandering through a secluded forest, she stumbled upon an
ancient-looking map half-buried in the undergrowth. The map depicted a trail that led to a
legendary waterfall rumoured to possess magical properties. Driven by her curiosity, Lena
decided to follow the trail.

As she walked deeper into the forest, the atmosphere grew more enchanting. Sunlight filtered
through the thick canopy, casting dappled patterns on the ground. The sound of rustling
leaves and distant bird calls created a symphony of nature around her. Guided by the map's
markings, Lena navigated through challenging terrains and crossed a narrow rope bridge
suspended over a crystal-clear stream.

Finally, after hours of journeying, Lena arrived at the foot of the legendary waterfall. Its
cascading waters sparkled like diamonds in the sunlight, and a gentle mist enveloped the
surroundings. Lena felt a sense of wonder and tranquillity as she dipped her hand in the cool
waters, as if the legends were coming alive. She sat by the waterfall, captivated by its beauty,
pondering the ancient stories that had led her here.

SubQuestion No : 37

Select the most appropriate ANTONYM of the underlined word in the given sentence.
What surrounded Lena as she journeyed through the forest?
2 1.Bolt
< 2. Created
" 3. Freed
< 4. Girded
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680395349
6306801541596
6306801541599
6306801541598
6306801541597
Answered

3




Comprehension:

Read the given passage and answer the question that follows.

Lena was an avid explorer. She had a deep fascination for the mysteries hidden within the
dense forests. One day, while wandering through a secluded forest, she stumbled upon an
ancient-looking map half-buried in the undergrowth. The map depicted a trail that led to a
legendary waterfall rumoured to possess magical properties. Driven by her curiosity, Lena
decided to follow the trail.

As she walked deeper into the forest, the atmosphere grew more enchanting. Sunlight filtered
through the thick canopy, casting dappled patterns on the ground. The sound of rustling
leaves and distant bird calls created a symphony of nature around her. Guided by the map's
markings, Lena navigated through challenging terrains and crossed a narrow rope bridge
suspended over a crystal-clear stream.

Finally, after hours of journeying, Lena arrived at the foot of the legendary waterfall. Its
cascading waters sparkled like diamonds in the sunlight, and a gentle mist enveloped the
surroundings. Lena felt a sense of wonder and tranquillity as she dipped her hand in the cool
waters, as if the legends were coming alive. She sat by the waterfall, captivated by its beauty,
pondering the ancient stories that had led her here.

SubQuestion No : 38

Q.38 What intrigued Lena's curiosity in the forest?

Ans

25 1. She discovered an old book.
25 2. She found a hidden cave.
& 3. She stumbled upon an ancient map.

< 4. She heard whispers in the wind.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680395346
6306801541585
6306801541584
6306801541586
6306801541587
Answered

3




Comprehension:

Read the given passage and answer the question that follows.

Lena was an avid explorer. She had a deep fascination for the mysteries hidden within the
dense forests. One day, while wandering through a secluded forest, she stumbled upon an
ancient-looking map half-buried in the undergrowth. The map depicted a trail that led to a
legendary waterfall rumoured to possess magical properties. Driven by her curiosity, Lena
decided to follow the trail.

As she walked deeper into the forest, the atmosphere grew more enchanting. Sunlight filtered
through the thick canopy, casting dappled patterns on the ground. The sound of rustling
leaves and distant bird calls created a symphony of nature around her. Guided by the map's
markings, Lena navigated through challenging terrains and crossed a narrow rope bridge
suspended over a crystal-clear stream.

Finally, after hours of journeying, Lena arrived at the foot of the legendary waterfall. Its
cascading waters sparkled like diamonds in the sunlight, and a gentle mist enveloped the
surroundings. Lena felt a sense of wonder and tranquillity as she dipped her hand in the cool
waters, as if the legends were coming alive. She sat by the waterfall, captivated by its beauty,
pondering the ancient stories that had led her here.

SubQuestion No : 39

Q.39 Where did Lena find the map?

Ans

25 1.1n a bookstore in town

&* 2. Half-buried in the undergrowth
2% 3. Buried in the sand

& 4. Underneath a bridge

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680395347
6306801541588
6306801541591
6306801541590
6306801541589
Answered

2




Comprehension:

Read the given passage and answer the question that follows.

Lena was an avid explorer. She had a deep fascination for the mysteries hidden within the
dense forests. One day, while wandering through a secluded forest, she stumbled upon an
ancient-looking map half-buried in the undergrowth. The map depicted a trail that led to a
legendary waterfall rumoured to possess magical properties. Driven by her curiosity, Lena
decided to follow the trail.

As she walked deeper into the forest, the atmosphere grew more enchanting. Sunlight filtered
through the thick canopy, casting dappled patterns on the ground. The sound of rustling
leaves and distant bird calls created a symphony of nature around her. Guided by the map's
markings, Lena navigated through challenging terrains and crossed a narrow rope bridge
suspended over a crystal-clear stream.

Finally, after hours of journeying, Lena arrived at the foot of the legendary waterfall. Its
cascading waters sparkled like diamonds in the sunlight, and a gentle mist enveloped the
surroundings. Lena felt a sense of wonder and tranquillity as she dipped her hand in the cool
waters, as if the legends were coming alive. She sat by the waterfall, captivated by its beauty,
pondering the ancient stories that had led her here.

SubQuestion No : 40

Q.40 Select the correct spelling of the underlined word in the given sentence.
What was Lena's reason for following the trial on the map?

Ans = X 1.Trale

25 2. Treil

£ 3. Triall

o 4. Trail
Question ID : 630680395348
Option 11D : 6306801541593
Option 2 ID : 6306801541595
Option 31D : 6306801541594
Option 4 ID : 6306801541592

Status : Answered
Chosen Option : 4
Section : Module Il General Awareness
Q.1 g &1 pHAE gar gl
Ans | X 1.g¥ % pHAF T S1fdh

X 2. 733w

W 3. R pHAF I HA

X 4 a7
Question ID : 630680309363
Option 11D : 6306801203609
Option 21D : 6306801203612
Option 31D : 6306801203610
Option 4 ID : 6306801203611

Status : Answered
Chosen Option: 3




Q.2 & gadar s A fAfafaa d @ fora v (theme) & AT Gadhdar SITRsGhdT 9T

Ans

2022 §1?

X 1. AT IR @75: IAMST § AT
X 2. 9deh R, TG WRd

X 3. gafsT, e Sie T Yeh da<iht

o 4. [AHd Ty & oY YRR 9% ¥R

Question ID : 630680269940
Option 11D : 6306801049012
Option 2 ID : 6306801049013
Option 31D : 6306801049014
Option 4 ID : 6306801049011
Status : Answered
Chosen Option: 2
Q.3 f=fafaa & 9 frat 1893 # fAwmit 7 smifSia sif@e farsy enfifes wwie= (wnf §o=) & wmr
foram am?
Ans | o 1. @ e
25 2. ST I /g T
X 3. @rft g
X 4. @t ggeig
Question ID : 630680282916
Option 11D : 6306801099798
Option 2 ID : 6306801099795
Option 31D : 6306801099797
Option 4 ID : 6306801099796
Status : Answered
Chosen Option: 1
Q.4 f=fafEa d @ #19-d uRa & Gy & aga uerF frg g w@iferes adet i fRaetvar g 82
Ans | X 1. chdaal o1 Ie=T 237 ht Jrfrd AT &
X 2. hded deahlei UEATHSIR (USSR) & OfRkd €
X 3. Fded Ugfd & R-UETd 1d §
o 4. o, fafd grr vada §
Question ID : 630680287349
Option 11D : 6306801117304
Option 2 ID : 6306801117305
Option 31D : 6306801117306
Option 41D : 6306801117303
Status : Answered
Chosen Option : 4




Q.5 e o 3reATan SifAehT &1 ag unT RATH oAy iR AT gia & iR 39 UahR Sru=r Wd=

T TN HRAE, B hEUASETSET I
Ans | X 1. 31 UgenY STferent
X 2. saEm
o 3. ATScIeRIfgaT
X 4. Ticsttenra
Question ID : 630680560992
Option 11D : 6306802192974
Option 21D : 6306802192976
Option 31D : 6306802192973
Option 4 ID : 6306802192975
Status : Answered
Chosen Option: 3
Q.6 WRd & &fAUr ¥ IW T A=A usRT ok udanrersii & 9l sva o1 aa= R
Ans | o 1. IR T USR, FaYsT uadHre, fdeq gdanter sk ArerdT &l UsR
X 2. AT &l USR, fde uddaHTelT, SagET TdaaTe SR ek Gl USR
X 3. < ol UK, fdeg gddaHTen, GaqsT gddHrer iR Aerar &l UoR
X 4. ATTET T USR, TAYeT udaHTe, e gedaaten ofR gaeh Sl USR
Question ID : 630680309369
Option 11D : 6306801203635
Option 21D : 6306801203636
Option 31D : 6306801203633
Option 4 1D : 6306801203634
Status : Answered
Chosen Option: 2




Q.7 f=faf@a geafas (microfinance) sraurRomsit sl 3 faarur & wry gAfea fifeg)

T | (sraurog)
(a) g&H o1 (Microcredit)

g 11 (Rreron)

(i) o 31 aTet eafehat o forg fesre fang g

BIE, URT: GgehHI-FTRIT (peer-monitored) aTet

§4d 3dIq
(b) g&H sr=d (Microsavings)

(c) g&w i+ (Microinsurance)
Eol

(d) GraTfoies FOMeR (Social Collateral)

(ii) % 3T aTett srmaTdl & forg fafre SRt
(specific perils) & favg fa<fia grem

(i) 0T enelt chl TREY & & # T SUREIAA

(iv) URuRes &k o & foIg Srgar U = e U

It 9gd TS ST it Ta fohg ST aTet sie
0T

Ans | X 1.a-(i), b-(ii), c-(iii), d-(iv)
X 2. a(iii), b-(iv), c-(i), d-(ii)
& 3. a=(iv), b-(i), c=(i), d(iii)
X 4. a(ii), be(iii), c-(i), d-(iv)

Question ID : 630680564440
Option 11D : 6306802206662
Option 2 ID : 6306802206661
Option 31D : 6306802206659
Option 4 ID : 6306802206660
Status : Answered
Chosen Option: 3
Q.8 fA=fafEa A @ w9-ar sdea urdg G § 104 Aiferes wdea & wu d Afde &2
Ans | o 1. RATTd SR Trfees fAfafd & Foft & § IcpedT i f&em & gare e
X 2. 3 A ST Bl ST 3R IThT UTer AT [SIgi=t WasAdT & forg gHR AER T at oika
fopam
X 3. 98 3 digg a9 &l 3y & S s=3 a1 St oft A &, ahl RAerm & e vere s
X A, e gfEeivr, AedTaTe dt s gd GuR &t TeT o faere s
Question ID : 630680275852
Option 11D : 6306801071922
Option 21D : 6306801071920
Option 31D : 6306801071921
Option 41D : 6306801071919
Status : Not Answered

Chosen Option :




Q.9 2021 #, &g wsft fAdg Rig A dgar duw gafga™ uem w7 & g taw-3s Sioer a2 =R

(X-band Doppler Weather Radar) &1 IgTe fohaT| SHehT IZTe gl fohar T AuT?
Ans X 1.7E™@

o 2.9
X 3. 9dhe
X 49538
Question ID : 630680115313
Option 11D : 630680446604
Option 2 ID : 630680446603
Option 31D : 630680446602
Option 4 ID : 630680446605
Status : Answered
Chosen Option: 1
Q.10 w7 hfesicfia & (torrid zone) & g R g1
Ans | X 1.3 ya ofik IaRyd g
X 2. =f&or ga ga Sfk wene 3@t
o 3. Peh 3@ 3R AR 3@
X 4. ITRY g 7R ek T
Question ID : 630680565159
Option 11D : 6306802209612
Option 2 ID : 6306802209611
Option 31D : 6306802209609
Option 4 ID : 6306802209610
Status : Answered
Chosen Option: 3
Q.11 &k 12 g Srei-12 & uRATOLSH 2l e R hgare &2
Ans | X 1. i &l f@Ri®
X 2. rE @l RIS
o 3. SanTTeY 1 fRRiw
X 4. Reet o1 fRRiw
Question ID : 63068098948
Option 11D : 630680384496
Option 2 ID : 630680384498
Option 31D : 630680384497
Option 4 ID : 630680384499
Status : Answered
Chosen Option: 3




Q.12 HeT1 & il & Yy & FAEfaf@a § @ o9-a1/3 w97 9@ g/8?
1./ (account) &Y Gek TS & U F HeT o1 31 & h g awgail, Jarei sk s A &
AR e & HT9 & Yeh ATTeh TEAT 518 21
2. aeufira T (deferred payment) & HT9eh o U | JgT Goh Hg«aqol hid Tl g iTeh
SYfes sifeaawaTg wiasa & e & forg amas & st ger o1 Iughr et &

Ans = o 1. hae |
X2aar]siRag2
X 3.13R2aHA
X 4. a2

Question ID : 630680564435
Option 11D : 6306802206639
Option 2 ID : 6306802206642
Option 31D : 6306802206641
Option 4 ID : 6306802206640
Status : Answered
Chosen Option: 1

Q.13 WRd & S=RTOHT e foheat =RON & glar 8?
Ans | X 1.9

X 2.u&

X 3. TR

o 4.3

Question ID : 630680663955
Option 11D : 6306802599461
Option 2 ID : 6306802599459
Option 31D : 6306802599462
Option 4 ID : 6306802599460
Status : Marked For Review
Chosen Option: 1

Q.14 YRA & Yai=a AATd & SAYGR & dau J fFafaf@d & 9 fi=-a1 wu= I 82
Ans | X 1. Rd & SfIY & Srgee 30 diea AT i TS Tl SRR &l |

X 2. gdfea qraTerd & I SRR ST IUFNT Iod =ATTerd gRT [ 7Tg gH0T ust g1 fohar s
ThdT 8|

o 3. T SRR WRd TR 3R Teh a1 3ifereh Irsal & afier faredt off e den farga gtan &1

X A gl Terd & U 9Rd &t Gt Srarerdl iR ArTfeieRRul R Jgd i delgehR
SATARR &1

Question ID : 630680615326
Option 11D : 6306802407979
Option 2 ID : 6306802407980
Option 3 ID : 6306802407978
Option 4 ID : 6306802407981
Status : Answered
Chosen Option: 3




Q.15 YERR & IR H SITRsahdl g6 3R YERR @ Aue & 9u @&t @em & fag 2021 d
SR yerR ARy fRaw (g aififer wrisha) sea a=mar mar ar?

X 1.16 S &l
X 2.19 3T
o 3.9 IR &t
X 4 ATRad &Y

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680112125
630680434227
630680434229
630680434226
630680434228
Not Answered

Q.16 e fone fiig daan Y e snrepfar a1 wfafAfde wwa 87
o 1.1

X 2. wfdda

X 3. TR

X 4. fawy

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680309304
6306801203376
6306801203374
6306801203373
6306801203375
Answered

1

Q.17 st 3R wfieht se & SR v Siwht @gf (cottony growth) it o whgd &2
X 1. garet (Algae)

¥ 2. Thaah (Fungi)

/X 3.@13HA (Lichens)

/< 4. Sfiaroy (Bacteria)

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680561034
6306802193082
6306802193083
6306802193084
6306802193081
Answered

2




Q.18 1905 # g aHfiarzor E = mc? &1 ufaure= famas famar ar?
Ans | X 1.3mE9% A

X 2. TR grEsat

o 3. IeTE IEE

X 4. I TR

Question ID : 63068094239
Option 11D : 630680365652
Option 2 ID : 630680365654
Option 31D : 630680365651
Option 4 ID : 630680365653
Status : Answered
Chosen Option: 3

Q.19 Prfaifem 7 gifa A
&2

Ans | X 1.1, 2-b, 3a
o 2.1-b, 2-c, 3-a
X 3.1-a,2b,3-c
X 4.1-a,2¢,3b

Question ID : 630680310802
Option 11D : 6306801209337
Option 2 ID : 6306801209340
Option 31D : 6306801209338
Option 4 ID : 6306801209339
Status : Answered
Chosen Option: 2




Q.20 uddta (orographic) auf & Tey & Ffaf@a & @ FiF-9r vy @ 8?2
Ans | o 1. 3T UHR 6 aul 99 Siit & 519 T SR TS g el uda sfaen ¥ el 81

Cicc] [

/5 3. 39 UPR <l auf ol garsii o HITH! IShAUT Y UM SITdT 8 SiT TgT A5 of STl g
75 4. 9% g ®U 9 AT S GRM gk 8 SR i 3 # Jeadig Hafarsd (Siaigd) i o

2l
Question ID : 63068094178
Option 11D : 630680365407
Option 2 ID : 630680365408
Option 31D : 630680365410
Option 4 ID : 630680365409
Status : Answered
Chosen Option : 1
Section : Module | Computer Knowledge Module
Q.1 DMA RJFIdR0T & URY g & a1€ CPU <Rl oRIT i &7
Ans | X 1. 78 RMidRd fhT 7Y udes a18e ot Aftha ®U T UeEfAq ahar g1
75 2. DMA RIHId=01 QX1 14 deh a8 Ffseha 3@ 81
/< 3. I8 Hyuf 31 RIHIdRoT | 9fient AT g1
o 4. 519 do RITFIAR0T &1 1, DMA fFisen g1 Hafaa foram STt g, a@ deh a8 310 i e &
T @ glar 81
Question ID : 6306801147339
Option 11D : 6306804509485
Option 2 ID : 6306804509486
Option 31D : 6306804509488
Option 41D : 6306804509487
Status : Not Answered
Chosen Option : --
Q.2 ATYH 22T TIE & UeieH 3R Ul (queries) it fAumfea st & forg fore gweiicha Sfoeder &1
IuGIT e SiTaT 87
Ans | X 1. UEGTRY IioedeR
X 2. 78 M qiedmR
X 3.de
o 4. TIT BoTie Ried diweder
Question ID : 6306801147343
Option 11D : 6306804509503
Option 2 ID : 6306804509501
Option 31D : 6306804550266
Option 4 ID : 6306804509502
Status : Answered
Chosen Option : 4




Q.3 fOHfees uferwE (symmetric encryption) #, 31 &t gfehte ik fafthe A & forg farasit

St (keys) 1 Izt forar et 82
Ans | X 1.fF it
X 2. q gl
o 3. 7@ Gt
X 4. e o it T8t
Question ID : 6306801148919
Option 11D : 6306804515742
Option 2 ID : 6306804515741
Option 31D : 6306804515740
Option 4 ID : 6306804515743
Status : Not Answered
Chosen Option : --
Q.4 fr=fafea d @ w9-a1 fAee, sisds ik Sd-91U $e3e e o i< urafieh 3id= a1
Id 3BT gui= Far &2
Ans | o 1. STIET-370 Ueh ColiThI- T8+ ohT IUANT &hedl &, STafch atgas gTaR € (higher speeds) &
fore faf 9= Jer-iien! ol ITTNT ST B
X 2. STOA-31U & foIT Shalet a1 hY TATehdT gl &, STafh Sisds & fog gl gidl|
X 3. sifede thaet <t &1 § IueTe &, STeIfch STa-31U Ueh &3 § Iuetedf &1
X 4. §sds, sa-org § ofiar giar gl
Question ID : 6306801148419
Option 11D : 6306804513755
Option 2 ID : 6306804513757
Option 31D : 6306804513756
Option 4 ID : 6306804513754
Status : Answered
Chosen Option: 1
Q.5 Ctrl + V 2iféehe groft a1 T i &2
Ans | o 1. (O AT 71T chie T Uxe AT
X 2. Siagdc & 9 s
X 3. Tarae foAY MY e @l dhe (cut) AT
X 4. foneft Slerpiie | dare ot @lerT
Question ID : 6306801147368
Option 11D : 6306804509599
Option 2 ID : 6306804509597
Option 31D : 6306804509596
Option 41D : 6306804509598
Status : Answered

Chosen Option :

1




Q.6 THTSIA (Amazon) fohd UehR & §-h A ATS T ISIEIUT 8?2
Ans | X 1.B2B (-ga9rd 9 uadry)

X 2. C2B (IUHIAT T HaTTY)

X 3. C2C (IueThT ¥ IUIhI)

o 4. B2C (0T  Iui<hT)

Question ID : 6306801160842
Option 11D : 6306804562779
Option 2 ID : 6306804562782
Option 31D : 6306804562780
Option 4 1D : 6306804562781
Status : Answered
Chosen Option : 4
Q.7 f=faf@ea d & F9-ar vt maa: WAN # 321 gidwgeie (data encapsulation) &
forg Sut faran smar &2
Ans | X 1.3=Ac¢ (Ethernet)
X 2. &dfidf/smgtd (TCP/IP)
X 3. g (Wi-Fi)
o 4. gTS-daat 31 fofa dhgtet (High-Level Data Link Control)
Question ID : 6306801158369
Option 11D : 6306804552782
Option 2 ID : 6306804552781
Option 31D : 6306804552784
Option 4 ID : 6306804552783
Status : Answered
Chosen Option: 2
Q.8 QR @I= & QR 1 guf =U =T 82
Ans | «” 1.Quick Response (fren Redr=)
< 2. Quick Resolution (fare ISiieger)
< 3. Query Response (=t fRear=)
/5 4. Quantum Read (FaieH )
Question ID : 6306801161059
Option 11D : 6306804563640
Option 21D : 6306804563639
Option 31D : 6306804563641
Option 41D : 6306804563642
Status : Answered
Chosen Option: 1




Q.9 hugex s # ROM @1 Uk Sifeard ord fFafaifEa # 9 spi=-ar g?
Ans | X 1. UMY ST

o 2. gg-o70 ufcharatt & forg Se1 ot wirft ®u § ufed e

X 3. SHdhTeRdl gRI SIS TS e aht Hufed ae

X 4. STt ol ®U @ Hufgd e

Question ID : 6306801147330
Option 11D : 6306804509451
Option 2 ID : 6306804509450
Option 3 ID : 6306804509452
Option 4 ID : 6306804509449
Status : Answered
Chosen Option: 2

Q.10 fr¥ SISSR QoIS 1 IuTTT HYuf A9 U ol SHTtheTe= SUTIT 3 SIS et & forg faram
ST HehelT 872

Ans | o 1.39 Thuge (Web ScrapBook)
X 2. ggsster (AdBlock)
X 3. 3axAte (Evernote)
X 4. am=el (Grammarly)

Question ID : 6306801149589
Option 11D : 6306804518394
Option 2 ID : 6306804518393
Option 3 1D : 6306804518396
Option 4 ID : 6306804518395
Status : Answered

Chosen Option: 1

Q.11 uHTY a< 2019 # sSirHe g 8 (Save as) & g Hiai 2iiéwme gl
Ans = X 1.F10

X 2.F11

o 3.F12

X 4.F9

Question ID : 6306801157811
Option 11D : 6306804550385
Option 2 ID : 6306804550387
Option 3 1D : 6306804550386
Option 4 ID : 6306804550384
Status : Answered
Chosen Option: 3




Q.12 Fafaf@a @ @ fd ard ads1 (Charles Babbage) ZRT fasitsa forar wam ugen AdfAeret
THegER HIHET ST 872

Ans | X 1.gH&% (UNIVAC)
X 2. 3rdwd (Abacus)
& 3. TATfAifeaRet 8919 (Analytical Engine)
X 4.3fTes (ENIAC)

Question ID : 6306801152355
Option 11D : 6306804529396
Option 2 ID : 6306804529394
Option 31D : 6306804529395
Option 4 ID : 6306804529393
Status : Answered

Chosen Option: 2

Q.13 @R "1 9sH (instant messaging) # TaathgfAdl &l & A & fw WTge! ar satsh @
U HY fRar ST weRar 82

Ans | X 1.7 31 fehTel ST Uehet Tl QTG] hl Seeleh?
o 2. UV & Tt T {TGHTHS XS ! T Tich
25 3. ufaferar &7 &Y SrraRTehdr Tt THIE Hch
X 4. T & e Pl BicT Ak

Question ID : 6306801160832
Option 11D : 6306804562741
Option 2 ID : 6306804562740
Option 31D : 6306804562742
Option 4 ID : 6306804562739
Status : Answered
Chosen Option: 2

Q.14 fd=s ity (Windows 0S) # forelt whiget a1 thiver &1 A dea & faw amrge: Rafaf@a &
@ -1 PGS ATdehe IuahT fFar Sirar 82

Ans X 1.Ctrl+R
o 2.F2
X 3. Alt + Enter
X 4.Ctrl+F5

Question ID : 6306801150227
Option 11D : 6306804520943
Option 2 ID : 6306804520944
Option 31D : 6306804540988
Option 4 ID : 6306804520945
Status : Answered
Chosen Option: 2




Q.15 i S/« & SI9-91 TRM 3TU<h! a9 UST <kl fiic e & o Reca wsa s su d aa
e Y gfaum dar &2

Ans | X 1. Yoo fiiex (Select printer)
25 2. fiie teg (Print preview)
75 3. fiie g wrsd (Print to file)
o 4. 99 51 NEIUW (Save as PDF)

Question ID
Option 11D
Option 2 ID

1 6306801149600
1 6306804518440
1 6306804518439
Option 31D :
Option 41D :

Status :
Chosen Option :

6306804518437
6306804518438
Answered

4




